Calcular Porcientos (C)

Calcule el porciento o valor que se pide.

. ;(Qué porciento de $1,689 es
$1,126?

. ;(Qué porciento de $7,332 es
$4,888?

. (Qué porciento de $4,752 es
$3,168?

. (Qué porciento de $519 es $346?

. (Qué porciento de $4,240 es
$636?

10.

. .Qué porciento de $8,408 es

$4,204?

;Qué porciento de $5,876 es
$1,469?

;Qué porciento de $5,230 es
$1,046?

. Qué porciento de $3,480 es
$348?

.Qué porciento de $1,660 es
$415?
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Calcular Porcientos (C) Respuestas

Calcule el porciento o valor que se pide.

. ;(Qué porciento de $1,689 es
$1,126?
66%5%

. ;(Qué porciento de $7,332 es
$4,888?
6623%

. (Qué porciento de $4,752 es
$3,168?
66%3%

. (Qué porciento de $519 es $346?

66%3%

. (Qué porciento de $4,240 es
$636?
15%

. .Qué porciento de $8,408 es

$4,2047?
50%

- .Qué porciento de $5,876 es

$1,469?
25%

- :Qué porciento de $5,230 es

$1,0467
20%

- ;Qué porciento de $3,480 es

$348?
10%

. ;Qué porciento de $1,660 es

$4157?
25%
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